MATH 104 IN CLASS PRACTICE MIDTERM 1

NAME (PRINTED):
TA:
RecrraTioN TIME:

Please turn off all electronic devices. You may use both sides of a 8.5 x 11
sheet of paper for notes while you take this exam. No calculators, no course
notes, no books, no help from your neighbors. Show all work, even on
multiple choice or short answer questions—the grading will be based on your
work shown as well as the end result. Please clearly mark a multiple choice
option for each problem. Remember to put your name at the top of this page.
Good luck.

My signature below certifies that I have complied with the Univer-
sity of Pennsylvania’s code of academic integrity in completing this
examination.

Your signature
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1. (10 pts) Evaluate
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2. (10 pts) Evaluate
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3. (10 pts) Evaluate
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4. (10 pts)
A vat with 500L of beer contains 4 percent alcohol. Beer with 6 percent alcohol is poured
in at a rate of 5L per min. The mixture is pumped out at the same rate. What is the percent

of alcohol after one hour?
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5. (10 pts) Solve the following D.E.
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6. {10 pts) Solve the following D.E.

zy —y = 2xin(zx)
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7. {10pts) Use Taylor series to find the following limit
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8.(10pts) Using the definition of Taylor series, derive the Taylor series for f (x) = sin(z) at
z =0
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